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NRELE Instructions :
1. st forrmeredt w et game 3Taa s, 1. Fill in every information asked for.
2. Tg gy gigar. 2. Attempt all questions.
3. TR JATETE ArseredT 9T A, e 3. :Il\‘lrite the :nsl;wer Wi|t.,h expltaination in
2 e space below each question.
STITHE I ) 4. Use the space provided on each page

4. FEoAT HHTEIS! Fedeh UBTeR foeteft S AT, for rough work.

5. TETEn ¥ fafieet ST E e & W 5. If you want to rewrite the solution of a
T foTeaa 318 9 Q 9T T question cancelling the original, write it

TR T ST sheieTae R, on the last blank page mentioning the
question number .
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Q.1 Shyam was born on 1 April in a leap year. If there were 5 Fridays and 5 Saturdays in
April that year, how many Saturdays were there during that year ?

T.1 AT S O ol i 1 ST e srar. & o et Al SERaw S wiHear
5 T AT BT, T T {YUT aywiel foht SR 377t B 2 [4]

Rough work / <a &



Q2 If [23* +2%# + (293 + (292" = 2™ thenfindm. .
T2 W[28 2% (2793 293]7 = 2 m o b F@ [4

Rough work / =2 s



Q.3 A manufacturer makes 1200 articles at the cost of ¥ 2.5 each. He marks each of them in
such a way that, if only 800 of them were sold, he would make 40% profit. But he sold 840
articles at their marked price and the remaining at 60% of their marked price. Calculate
the manufacturer's profit percentage in this trade.

T.3  UHHNEFER 1200 T8 S 2.50 %, TS, et ar et et febwa Stfer shi erident
e 800 T foreheT AT STECT AL AT UUT 40% TT THaTeAT ST, SeredTel eIt 840
ae] S Brdie i forerean oifdr St e BTt fehmeli=a 60% fermrefte

eI, AT AT AT AT b ST T ehell 2 (4]

Rough work / &< &



Q.4 Find the square-root of : (1001 x 1002 x 1003 x 1004 +1)
T4 (1001 x 1002 x 1003 x 1004 + 1) = TiHeS He. [4

Rough work / &ea



Q5 If (ABBA)2 = CBDEF8A. Find the proper digits in place of 4, B, C, D, E, F. Different
letters denote different digits.

Y.5 SR(4BBA) = CBDEF843RAT A4, B, C, D, E, F Ir=aT IR a1 3isk mivem, Ryt srey firey
. [4]
3Hh 33‘ iéa Id.

Rough work / F<e s



Q.6  Construct asquare having area 18 om’.

T.6  18cm’ SETHeS AT ITETT WYTATieh T e,

Rough work / &2 s



Q.7 .If X —Tx—9= 0, then find the numerical value of x2 — 6x + fi.

35 . .
7 Wx -Tx-9=0, W ¥* —6x + w12 I Tt Sishrensh fohma e, [6]

Rough work / &= ™




Q.8 Four distinct points are arranged in a plane so that the segments connecting them have
lengths a, a, a, a, 2a, and b. What is theratioof btoa?

.8 e S =R FireT fig SR St ol i Sgomr=n WreS i el g, g, 4, 4, 2a AT b
ARAEETb T o T STEA U el 2

Rough work / &= s




2
Q9 If343=(n—14) (n? +2 " +19 X6+ 92 + 1), then find the value of /373

%9 W3MI=(n-14) (n2 + 20 +19x 6+ 9% + 1), @ ¥3n? <hfbmaien [6]

Rough work / %<2 &M



Q.10 The compound interest on a certain principal for two years is ¥ 840 and for three years is

¥1324. Find therate of interest p.c.p.a.
T.10 Tl qECIT Shie! QM QI JTaTdt fHeum Tsrae =it 840 %, T8 A7 i i fresom

TSRATS TS 1324 . TR, ATTE SIS S, 91.3.31, SLHTET.

-----------------------------------------------------------------

Rough work / &< &1
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Q.11 Identical four squares are cut from the corners of a square cardboard. The remaining sheet
is folded to make an open box. If the volume of this box is 25 cubic cm, then find the side
of that square cardboard.

T.11 mﬁwﬁwﬁ@wmmﬁ%ﬁwm aﬁw@wg@m@
SIS GIehT ST, AT G T S%ea 2.5 S S TR, ATt o1 = el Gareit e ot &

. [6]
T forar.

Rough work / F<a &M
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Q12 Simplify: 97(1-2)(1-3)(1-15)~(1-55)

w12 w97 (1- ) (1-3) (1-55) (1 -53)

Rough work / << ™

-12-



Q.13 Notethat:5!isread as factorial 5.
51=5%x4x3x2x1,
Bl=8xT7Tx6x5%x4%x3x2x1
If A=2021! and B =2022 x 2023 x 2024, then find the GCD and LCM of A and B.
Write the GCD as the product of the greatest possible powers of its prime factors and
write the LCM using factorial notation.

.13 AHAEATH : 5 THFRITC I 3T =T
SI=5x4x3x2x1,
I =8XT7x6x5%x4x3x2x1,
S A =2021! 37T B = 2022 x 2023 x 2024, T A 3107 B 91 q.41.f, v . anfar. shem,
T 1. o1, AT s e Sdish AT U=t TaeuTd foreT oTifdr e, dadifeer (8]

Fargren IR e fore,

Rough work / <d 19

18-




Q.14 O is the centre of two concentric circles. Radius of the smaller of them is 8 cm. Chord AB
of the bigger circle passes through exactly one point C on the smaller circle.
IfAB=2V105 c¢m and ifray BO intersects bigger circle at point D, find the length of BD.
Also, provethat ABOC~ABDA and hence find the lengths of AD and CD.

714 3 R A O § ¥ R, e e agdeTeh e 8. Ht A, win aeTelt S
AB SEH ST IR C A G feiega 9. AB= 2v105 @ftarme. for BO G
feTeT D feiga e, aranfediaet BD s erisll wiem. 7@ ABOC~ABDA & Rrgshramior
AT AD =TT CD = el Sire e fofer.

Rough work / F=a M

-14-
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Q.15 A certain stock of liquid fertilizer was stored for 31 saplings. It was planned to be used at
the rate of 1 litre per sapling per week. Since one sapling was sold every week; the
fertilizer lasted twice as long as planned. What was the original stock of the fertilizer and

for how much period was it planned ?

715 31 QuiEet wet ffEa wemadiadt for te 59 @d d8ad ad g, T IR &
TSAGATAT 1 FoTeT fer T AT G ShetT SR BT, 3T ATSTALATAT ek U forehet TeTes d@d
o It g SweTaeaTs! I, Jrae Tarn e HeT fahdt grar STy @ e

fordt srreaefiETdl St 81, ® T T fore,
[8]

Rough work / <3 &M



Q.16 The number inside each triangle is the sum of the 2

numbers at its vertices. Find the natural numbers / \
a, b, ¢, d, e satisfying the given condition. 12
.16 Y GIRIUTST T STEie HEAT € e 5 b
Rrdfeater sreate ¥ . € 972 ot e / \16/ \ 8]
Waﬂﬁﬁmtz,b,ad,em. M £5
¢ d e
Rough work / <3 %™
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Q.17 Thedistance between atown and a mill is 30 km. A man started to walk from the mill to the
town at 6:30 a.m., while a cyclist left the town for the mill at 6:40 a.m., at a speed of 18
km'h. The man met the cyclist after walking 6 km. Determine at what time they met and
the man's speed in km/hr.

17 o e fefieae siat 30 R AR, TRt Ao whEt 6:30 ST Frofiaree
STETHS SR Yol hell, T T ArRsherear 18 frfi/ama e gerrest 6:40 arsmar
STETTE firofiens feet. 6 foreft aereaaT at sroe arereherea e Seett, at fordt e
TETT? ATV AT N e HToTET= o fahelt (fereftyamen) gt 2

vl

8]
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